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b E 20 m3
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B2 A couE
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T wb AT 1 X
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&7 ny 5k 72 m2
150kg/{EAT 122 350mm VEHH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hi 1 m2
TR AHEET B M t=10 ;
Bl HT Ruiav - 12 m
18-8-40 (&)
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BGRESGESE (5 L) = 1 105, 000
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Bl gy 2 1 2,974, 000
T =5l = 1 9, 803, 560
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H Hi 2 m2
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s 1 =X
BREXy NRE
AR 1 X
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HIRLT = 1 2, 669, 553
2/ =p7 " my ) T (R EA7 vy ) 5R) =Y 1 593, 692 | BiRHTILREa ) -} 4 m
18-8-40 (75 /7) JEIE 46cm & 50cm ;
%07 ny )8k 16 m2
150kg/{EAT 122 350mm VEHH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hi 4 m2
T W B i =10 ;
Bl HT Ruiav - 11 m
18-8-40 (&)
T FTHERE T (&4 BT =X 1 1,779,007 | f=\HERE 29 m3
2mPh_E5mEA T 18-8-40 (B ¥F) ;
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MRS BhkE T
ERZE R LD 7 m
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/) -hik Bk
o 1 38 m3
av ) -bik (BERR)
By 3 m3
/) -hik Bk
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av))-bak (BERR)
% T = 1 748, 025
THEHER T =X 1 457,925 | THHHE KK 1 =X
RRIE
THEHERE L 1 =X
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o5 1 2V
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RUEFRE
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(KA
ik
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AR AVAE e
AEEHE T Y 1 140, 400 | A2 FHEZ A B 1 =
[ERAE Xy = 1 4,708, 574
IR 2 1 531, 000
Mo R 2 = 1 82, 000
BGRESGESE (5 L) = 1 82, 000
B (FEHL) = 1 449, 000
T = 1 5,239, 574
Bl gy 2 1 2,323, 000
T =5l = 1 7,562, 574

- 15 - E a2 Ui




